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Magneticfield

Electron

1. A student determines the focal length of a 

device „X‟ by focusing the image of a 

distant object on the screen placed 20 cm 

from the device on the same side as the 

object. The device „X‟ is 

(a) a concave lens of focal length 10 cm 

(b) a concave lens of focal length 20 cm 

(c) a concave mirror of focal length 10 cm 

(d) a concave mirror of focal length 20 cm 
 

2. For a metallic conductor, current versus 

voltage graph is drawn at two different 

temperatures T1 and T2. From the graph it 

follows 

 

 

 

 

 

(a) T1 = T2  (b) T1 > T2 

(c) T1 < T2  (d) None of these 
 

3. In the network of resistors shown in the 

adjoining figure, the equivalent resistance 

between A and B is 

 
(a) 54  (b) 18  (c) 36  (d) 9  
 

4. Two identical heaters 240 V, 1000 W are 

connected in series across a supply of 240 V 

line, then the combined power is 

(a) 2000 W  (b) 1000 W 

(c) 500 W  (d) 4000 W 
 

5. An electron enters a magnetic field at right 
angles to it as shown in figure. The 

direction of force acting  on the electron 

will be 

 

 

 

 
 

(a) To the right (b) To the left  

(c) Out of the page (d) Into the page 

1. ,d Nk= ;U= ls 20 lseh nwj oLrq ds leku 

rjQ j[kh LØhu ij nwj dh oLrq dh Nfo dks 

dsafær djds fMokbl ^X^ dh Qksdy yackbZ 

fu/kkZfjr djrk gSA fMokbl ̂X^ gS 

¼a½ 10 lseh Qksdy yackbZ dk ,d vory ysal 

¼b½ 20 lseh Qksdy yackbZ dk ,d vory ysal 

(c) Qksdy yackbZ 10 lseh dk ,d vory niZ.k 

(d) 20 lseh Qksdl nwjh dk ,d vory niZ.k 

 

2. ,d /kkfRod pkyd ds fy,] fo|qr /kkjk cuke 

oksYVst xzkQ nks vyx&vyx rkieku T1 vkSj 

T2 ij [khapk tkrk gSA xzkQ ls ;g fuEukuqlkj gS 

 

 

 

 

 

 

(a) T1 = T2            (b) T1 > T2 

(c) T1 < T2        ¼d½ buesa ls dksbZ ugha 

 

3. fudVorhZ fp= esa fn[kk, x, çfrjks/kksa ds usVodZ 

esa] A vkSj B ds chp lerqY; çfrjks/k gS 

 

(a) 54  (b) 18  (c) 36  (d) 9  

 

4. 240 V] 1000 W ds nks leku ghVj 240 V 

ykbu dh vkiwfrZ esa Jà[kyk esa tqM+s gq, gSa] rk s 

la;qä 'kfä gS 

(a) 2000 W  (b) 1000 W 

(c) 500 W  (d) 4000 W 
 

5. tSlk fd fp= esa fn[kk;k x;k gS] ,d bysDVª‚u 

pqacdh; {ks= esa ledks.k ij ços'k djrk gSA 

bysDVª‚u ij yxus okys cy dh fn'kk gksxh 

 

 

 

 
 

(a) nkbZa vksj  (b) ckbZa vksj 

(c) ist ls ckgj  (d) ist esa 

1T

2T

X

Y

IO

V
1T

2T

X

Y

IO

V

pqacdh; {ks= 

 

bysDVªkWu 
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6. Two parallel conductors carrying current in 

the opposite directions. Force acting on 

them will. 

(a) Repel each other  

(b) attract each other 

(c) sometimes attract and sometimes repel 

each other 

(d) None of these 
 

7. Lenz‟s law is a consequence of the law of 

conservation of 

(a) Charge  (b) Mass 
(c) Energy  (d) Momentum 
 

8. In domestic electric circuits, fuse must be 

placed in series with 

(a) Earth wire  
(b) Neutral wire 

(c) Live wire   

(d) Any of the three wires 

 

9. Two plane mirrors are inclined to one 

another at an angle of 060 . A ray is incident 
on mirror M1 at an angle (i) parallel to M2. 

The reflected ray from mirror M2 is parallel 

to mirror M1 as shown in figure. The angle 

of incidence (i) is 

 
 

(a) 020   (b) 010  

(c) 030   (d) 040  
 

10. Velocity of light in vaccume is 83 10 m/s 
and the refractive index of glass is 1.5. The 

time taken by light in travelling 3 km in 

glass will be 

(a) 51.5 10 s  (b) 61.5 10 s  

(c) 71.5 10 s  (d) 41.5 10 s  
 

11. Which of the following are exothermic 

processes? 

(i) the reaction of water with quick Lime 
(ii) Dilution of an acid 

(iii) Evaporation of water 

(iv) Sublimation of camphor (crystals) 

(a) (i) and (ii) (b) (ii) and (iii) 

(c) (i) and (iv) (d) (iii) and (iv) 

6. nks lekukarj pkyd esa foijhr fn'kkvksa esa fo|qr 

çokfgr gksrk gS] muis yxus okyk cy 

(a) ,d nwljs dks ihNs gVkuk 

(b) ,d nwljs dks vkdf"kZr djrs gSaA 

(c) dHkh&dHkh ,d&nwljs dks vkdf"kZr djrs gSa 

vkSj dHkh&dHkh çfrdf"kZr djrs gSa 

(d) buesa ls dksbZ ugha 

 

7. ysUt dk fu;e fdlds laj{k.k ds fu;e dk 

ifj.kke gS 

(a) vkos'k   (b) æO;eku 

(c) ÅtkZ   (d) laosx 
 

8. ?kjsyw fo|qr ifjiFk esa ¶;wt dks Jà[kyk esa yxkuk 

pkfg, 

(a) vFkZ ok;j  

(b) U;wVªy rkj 

(c) ykbo rkj 

(d) rhu rkjksa esa ls dksbZ Hkh 
 

9. nks lery niZ.k ,d nwljs ls 
060  dks.k ij >qds 

gSaA ,d fdj.k niZ.k M1 ij M2 ds lekukarj 

060 dks.k ij vkifrr gksrh gSA tSlk fd fp= esa 

fn[kk;k x;k gS] niZ.k M2 ls ijkofrZr fdj.k 

niZ.k M1 ds lekukarj gSA vkiru dks.k ¼i½ gS 

 

(a) 020   (b) 010  

(c) 030   (d) 040  
  

10. fuokZr esa çdk'k dk osx 
83 10 ehVj/lsds.M gS 

vkSj dkap dk viorZukad 1.5 gSA çdk'k dks dkap 

esa 3 fdeh pyus esa yxus okyk le; gksxk 

(a) 51.5 10 s  (b) 61.5 10 s  

(c) 71.5 10 s  (d) 41.5 10 s  
 

11. fuEufyf[kr esa ls dkSu lh Å"ek{ksih çfØ;k,¡ gSa\ 

¼i½ ikuh dh Rofjr pwuk ds lkFk çfrfØ;k 

¼ii½ vEy dk ruqdj.k 

¼iii½ ikuh dk ok"ihdj.k 

¼iv½ diwj ¼fØLVy½ dk m/kZ~oikru 

¼a½ ¼i½ vkSj ¼ii½  ¼b½ ¼ii½ vkSj ¼iii½ 

¼c½ ¼i½ vkSj ¼iv½  ¼d½ ¼iii½ vkSj ¼iv½ 

 



 

Sky Tutorial / Parakh Scholar 50 Test Paper / X to XI – Moving Students  / Pg. No. 4 

Sky Tutorials : Kabir Nagar Durgakund, Varanasi – 7510020006, 9696571381 

12. Barium chloride, on reacting with 

ammonium sulphate, forms barium 

sulphate and ammonium chloride. Which 
of the following correctly represents the 

type of reaction involved? 

(i) Displacement reaction 

(ii) Precipitation reaction 

(iii) Combination reaction 
(iv) Double displacement reaction 

(a) (i) only  (b) (ii) only 

(c) (iv) only  (d) (ii) and (iv) 
 

13. An aqueous solution turns red litmus 
solution blue. Excess addition of which of 

the following solution would reverse the 

change? 

(a) Banking powder  

(b) Lime  
(c) Ammonium hydroxide solution 

(d) Hydrochloric acid 
 

14. Which of the following salt does not 

contains water of crystallization? 

(a) Blue vitriol (b) Baking soda 

(c) Washing soda (d) Gypsum 
 

15. Which one of the following properties is 
not generally exhibited by ionic 

compounds? 

(a) Solubility in water 

(b) Electrical conductivity in solid-state 
(c) High melting and boiling points 

(d) Electrical conductivity in a molten state 
 

16. Which of the following metals exist in their 

native state in nature? 
Cu, Au, Zn and Ag 

(a) Cu and Au (b) Cu and Ag 

(c) Au and Ag (d) Zn and Ag 
 

17. Which of the following is not a straight-

chain hydrocarbon? 

(a)  

 

(b) 3 2 2 2 2 3H C CH CH CH CH CH      

 

(c)  

 

(d)  

 

 

12. csfj;e DyksjkbM veksfu;e lYQsV ds lkFk fØ;k 

djds csfj;e lYQsV rFkk veksfu;e DyksjkbM 

cukrk gSA fuEufyf[kr esa ls dkSu lk lgh <ax 

ls 'kkfey çfrfØ;k ds çdkj dk çfrfuf/kRo 

djrk gS\ 

¼i½ foLFkkiu çfrfØ;k 

¼ii½ vo{ksi.k çfrfØ;k 

¼iii½ la;kstu çfrfØ;k 

¼iv½ nksgjh foLFkkiu çfrfØ;k 

¼a½ ¼i½ dsoy  ¼b½ ¼ii½ dsoy 

¼c½ ¼iv½ dsoy  ¼d½ ¼ii½ vkSj ¼iv½ 
 

13. ,d tyh; ?kksy yky fyVel ?kksy dks uhyk 

dj nsrk gSA fuEufyf[kr esa ls fdl lek/kku dks 

vf/kd tksM+us ls ifjorZu myV tk,xk\ 

¼a½ cSafdax ikmMj  

¼b½ pwuk 

¼c½ veksfu;e gkbMª‚DlkbM lek/kku 

¼d½ gkbMªksDyksfjd ,flM 

 

14. fuEufyf[kr esa ls fdl ued esa fØLVyhdj.k 

dk ikuh ugha gksrk gS\ 

¼a½ uhyk FkksFkk   ¼b½ csfdax lksMk 

¼c½ okf'kax lksMk  ¼d½ ftIle 
 

15. fuEufyf[kr esa ls dkSu lk xq.k vke rkSj ij 

vk;fud ;kSfxdksa }kjk çnf'kZr ugha gksrk gS\ 

¼a½ikuh esa ?kqyu'khyrk 

¼b½Bksl voLFkk esa fo|qr pkydrk 

¼c½mPp xyukad vkSj DoFkukad 

¼d½fi?kyh gqbZ voLFkk esa fo|qr pkydrk 
 

16. fuEufyf[kr esa ls dkSu lh /kkrq ç—fr esa viuh 

ewy voLFkk esa ekStwn gS\ 

Cu, Au, Zn and Ag 

(a) Cu vkSj Au (b) Cu vkSj Ag 

(c) Au vkSj Ag (d) Zn vkSj Ag 
 

17. fuEufyf[kr esa ls dkSu lk lh/kh&J̀a[kyk 

gkbMªksdkcZu ugha gS\ 

(a)  

 

(b) 3 2 2 2 2 3H C CH CH CH CH CH      
 

(c)  

 

 

(d)  

 

3 2 2 2 2H C CH CH CH CH   

3CH

2 2 2 2H C H C H C CH  

3CH

3CH

2 2 3CH CH CH CH  
3CH

3H C

3 2 2 2 2H C CH CH CH CH   

3CH

2 2 2 2H C H C H C CH  

3CH

3CH

2 2 3CH CH CH CH  
3CH

3H C
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18. Identify the waste products release by the 

plants- 

(a) Oxygen  (b) Raisin 

(c) Gums  (d) All of these 
 

19. Which of the following general formula of 

alken 

(a) CnH2n + 2 (b) Cn H2n – 2 

(c) Cn H2n  (d) All 
 

20. One mole of a gaseous substance have then 

volume at STP/NTP 

(a) 22.4 L  (b) 2.24 L 

(c) 11.2 L  (d) 1.12 L 
 

21. A cross between a tall plant (TT) and short 

pea plant (tt) resulted in progeny that were 

all tall plants because 

(a) tallness is the dominant trait 

(b) shortness is the dominant trait 

(c) tallness is the recessive trait 

(d) height of pea plant is not governed by 

gene „T‟ or „t‟ 
 

22. The maleness of a child in human is 

determined by 

(a) the X chromosome in the zygote 

(b) the Y chromosome in zygote 
(c) the cytoplasm of germ cell which 

determines the sexd 

(d) sex is determined by chance 
 

23. Which among the following diseases is not 

sexually transmitted? 

(a) Syphillis  (b) Cancer 

(c) HIV – AIDS (d) Gonorrhoea 
 

24. If a round, green seeded pea plant (RR yy) 

is crossed with wrinkled, yellow seeded 

pea plant, (rr YY) the seeds produced in F1 

generation are  

(a) round and yellow     

(b) round and green 

(c) wrinkled and green 

(d) wrinkled and yellow 

 

 

 

 

18. ikS/kksa }kjk NksM+s tkus okys vif'k"V mRiknksa dh 

igpku djsa& 

¼a½ v‚Dlhtu  ¼b½ fd'kfe'k 

¼c½ xksan   ¼d½ ;s lHkh 
 

19. fuEufyf[kr esa ls ,Ydsu dk dkSu lk lkekU; 

lw= gS 

(a) CnH2n + 2 (b) Cn H2n – 2 

(c) Cn H2n  (d) lHkh 

 

20. ,d eksy xSlh; inkFkZ dk vk;ru STP/NTP 

ij gksrk gS 

¼a½ 22.4 yhVj  ¼b½ 2.24 yhVj 

¼c½ 11.2 yhVj  ¼d½ 1.12 yhVj 
 

21. ,d yacs ikS/ks ¼TT½ vkSj NksVs eVj ds ikS/ks ¼tt½ 

ds ladj.k ls ,slh larkusa izkIr gqbZ tks lHkh yacs 

ikS/ks Fkha D;ksafd 

(a) YkEckbZ izeq[k xq.k gS 

(b) NksVkiu izeq[k xq.k gS 

(c) yEckbZ vizHkkoh xq.k gS 

(d) eVj ds ikS/ks dh Å¡pkbZ thu „T‟ ;k „t‟ }kjk 

fu;af=r ugha gksrh gS 
 

22. Ekuq’; esa cPps dk iq:’kRo fu/kkZfjr gksrk gS 

(a) ;qXeut esa ,Dl xq.klw= 

(b) ;qXeut esa okbZ xq.klw= 

(c) tuu dksf”kdk dk dksf”kdknzO; tks fyax dk 

fu/kkZj.k djrk gS 

(d) fyax la;ksx ls fu/kkZfjr gksrk gS 

 

23. fuEufyf[kr esa ls dkSu lk jksx ;kSu lapfjr ugha 

gksrk gS\ 

(a) flQfyl (b) dSalj 

(c) ,pvkbZoh&,M~l (d) xksuksfj;k 
 

24. ;fn ,d xksy] gjs cht okys eVj ds ikS/ks                         

(RR yy) dks f”kdunkj ihys cht okys eVj ds 

ikS/ks (rr YY) ds lkFk ladj.k djk;k tk, rks F1 

ih<+h esa mRikfnr cht gksaxs 

(a) xksy vkSj ihyk  

(b) xksy vkSj gjk 

(c) f”kdunkj vkSj gjk  

(d) f”kdunkj vkSj ihyk 
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25. A feature of reproduction that is common 

to Amoeba, Spirogyra and Yeast is that  

(a) they reproduce asexually 

(b) they are all unicellular 

(c) they reproduce only sexually 

(d) they are all multicellular 
 

26. Select the mis-matched pair 

(a) Adrenaline :  Pituitary gland 
(b) Testosterone :  Testes 

(c) Estrogen  :  Ovary 

(d) Thyroxin :  Thyroid gland 
 

27. Which of the following is not associated 

with growth of plant? 

(a) Auxin  (b) Gibberellins 

(c) Cytokinins (d) Abscisic acid 
 

28. The movement of shoot towards light is 

(a) geotropism (b) hydrotropism 

(c) chemostropism (d) phototropism 
 

29. Posture and balance of the body is 

controlled by 

(a) cerebrum (b) cerebellum 

(c) medulla  (d) pons 
 

30. Which of the following equations is the 

summary of photosynthesis? 

(a) 2 2 6 12 6 2 26CO 12H O C H O 6O 6H O     

(b) 6CO2 + H2O + Sunlight  C6H12O6 + O2 

+ 6H2O 

(c) 6CO2 + 12H2O + Chlorophyll + Sunlight 

 C6H12O6 + 6O2 + 6H2O 

(d) 6CO2 + 12H2O + Chlorophyll + Sunlight 

 C6H12O6 + 6CO2 + 6H2O 
 

31. Find the point on the y-axis which is 

equidistant from the points (3, 5) and (-5, 2). 

(a) 
3

0,
5

 
 
 

   (b) 
5

0,
7

 
 
 

  (c) 
5

0,
6

 
 
 

    (d) (0,7)  

 

32. The angle of elevation of the top of a tower 

is 045 . On walking 24 m towards the tower 

along the line joining the foot of the 
observer and foot of the tower, the angle of 

elevation is found to be 060 . Find the height 

of the tower (use = 3 1.732).  

(a) 48.96 m  (b) 63.454 m 

(c) 56.784 m  (d) 56.762 m 
 

25. iztuu dh ,d fo”ks’krk tks vehck] Likbjksxkbjk 

vkSj ;hLV esa vke gS 

(a) os vySafxd :Ik ls iztuu djrs gSa 

(b) os lHkh ,ddksf”kdh; gSa 

(c) os dsoy ySafxd :Ik ls iztuu djrs gSa 

(d) os lHkh cgqdksf”kdh; gSa 

 

26. csesy tksM+h dk p;u djsa 

(a) ,Mªsufyu  :  fiV~;wVjh xzafFk 

(b) VsLVksLVsjksu : o’̀k.k 

(c) ,LVªkstu  : v aMk”k; 

(d) FkkbjksfDlu : Fkk;jkWbM xzafFk 

 

27. fuEufyf[kr esa ls dkSu ikS/ks dh òf) ls lEcaf/kr 

ugha gS\ 

(a) vkWfDlu (b) fxcjsfyUl 

(c) lkbVksfdfuu (d) ,fClfld ,flM 
 

28. izjksg dh izdk”k dh vksj xfr gksrh gS 

(a) ft;ksVªksfiTe (b) gkbMªksVªksfiTe 

(c) dseksLVªksfiTe (d) QksVksVªksfiTe 
 

29. “kjhj dh eqnzk vkSj larqyu fdlds }kjk fu;af=r 

gksrk gS\ 

(a) lsfjcze   (b) lsfjcSye 

(c) esMqyk  (d) iksal 
 

30. fuEufyf[kr esa ls dkSu lk lehdj.k izdk”k 

la”ys’k.k dk lkjkax gS\ 

(a) 2 2 6 12 6 2 26CO 12H O C H O 6O 6H O     

(b) 6CO2 + H2O + lw;Z dk izdk”k  C6H12O6 

+ O2 + 6H2O 

(c) 6CO2 + 12H2O + DyksjksfQy + lw;Z dk 

izdk”k  C6H12O6 + 6O2 + 6H2O 

(d) 6CO2 + 12H2O + DyksjksfQy + lw;Z dk 

izdk”k  C6H12O6 + 6CO2 + 6H2O 
 

31. y&v{k ij og fcanq Kkr dhft, tks fcanq ¼3, 5½ 

vkSj ¼&5, 2½ ls leku nwjh ij gSA 

(a) 
3

0,
5

 
 
 

   (b) 
5

0,
7

 
 
 

  (c) 
5

0,
6

 
 
 

   (d) (0,7)  

 

32. ,d Vkoj ds 'kh"kZ dk mUu;u dks.k 
045 gSA 

çs{kd ds ikn vkSj Vkoj ds ikn dks feykus okyh 

js[kk ds vuqfn'k Vkoj dh vksj 24 ehVj pyus 

ij mUu;u dks.k 
060 ik;k tkrk gSA Vkoj dh 

ÅapkbZ Kkr djsa ¼ 3 1.732 dk ç;ksx djsa½ 

(a) 48.96 ehVj  (b) 63.454 ehVj 

(c) 56.784 ehVj  (d) 56.762 ehVj 
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33. If cos cot 0,ec   then what will be the 

value of sec ? 

(a) 0 (b) 1 (c) -1 (d) 2 
 

34. If 
11

sin ,
61

  then sec tan ______.    

(a) 
5

6
 (b) 

60

121
 (c) 

6

5
 (d) 

31

30
 

 

35. If a card is drawn from a well-shuffled pack 

of cards, what is the probability that the 

card being a red king card? 

(a) 
1

13
 (b) 

1

26
 (c) 

2

13
 (d) 

3

26
 

 

36. If the sum of the first n terms of a sequence 

is n (3n +1), then find the general term of 

the sequence. 

(a) 4 3n   (b) 6 2n   
(c) 10 6n   (d) 6 3n  
 

37. If 2( 1) 5 7,   f x x x then find the 

remainder when f(x) is divided by x + 3. 

(a) 20 (b) 21 (c) 22 (d) 23 

 

38. If 2( ) ( 3)( ), ( ) ( 3)f x x x x a g x x        

2( ),x x b  and their HCF is 2 9,x  then find 

a + b, where „a‟ are „b‟ constants. 

(a) 12 (b) 6 (c) 24 (d) 18 

 

39. The area of a regular hexagon which is 

inscribed in a circle is 254 3 cm . Find the 

area of the circle (in cm2). 

(a) 36  (b) 48  (c) 54  (d) 42   

 

40. Which of the following is true for two 

linear equations 2 5 6 84x y z   and 

7 4 3 96?x y z    

(a) 6x y z    (b) 8x y z    

(c) 10x y z    (d) 20x y z    

 

41. For what value of k, will the following 

system of equations be consistent? 

4 5 6x y  and 16 20x y k   

(a) 12 (b) 18 (c) 24 (d) 30 

 

33. ;fn cos cot 0,ec   rks sec  dk eku D;k 

gksxk\ 

(a) 0 (b) 1 (c) -1 (d) 2 
 

34. ;fn 
11

sin ,
61

  rc sec tan ______.    

(a) 
5

6
 (b) 

60

121
 (c) 

6

5
 (d) 

31

30
 

 

35. ;fn rk'k ds iÙkksa dh vPNh rjg ls QsaVh xbZ 

xìh ls ,d iÙkk fudkyk tkrk gS] rks bldh 

D;k çkf;drk gS fd og iÙkk yky fdax iÙkk 

gksxk\ 

(a) 
1

13
 (b) 

1

26
 (c) 

2

13
 (d) 

3

26
 

 

36. ;fn fdlh vuqØe ds çFke n inksa dk ;ksx                

n ¼3n +1½ gS] rks vuqØe dk lkekU; in Kkr 

dhft,A 

(a) 4 3n   (b) 6 2n   

(c) 10 6n   (d) 6 3n  
 

37. ;fn
2( 1) 5 7,   f x x x dks x + 3 ls f(x) 

foHkkftr djus ij 'ks"kQy Kkr djsaA 

(a) 20 (b) 21 (c) 22 (d) 23 

 

38. ;fn 
2( ) ( 3)( ), ( ) ( 3)f x x x x a g x x       

2( ),x x b  vkSj mudk HCF 2 9,x   a + b 

Kkr dhft,] tgka „a‟ vkSj „b‟ fLFkjkad gSaA 

(a) 12 (b) 6 (c) 24 (d) 18 

 

39. ,d oÙ̀k esa vafdr fu;fer "kV~Hkqt dk {ks=Qy 

¼ 54 3 lseh
2 
gSA oÙ̀k dk {ks=Qy ¼lseh

2 
esa
 
½ Kkr 

dhft,A 

(a) 36  (b) 48  (c) 54     (d) 42   

 

40. fuEufyf[kr esa ls dkSu lk nks jSf[kd lehdj.kksa 

2 5 6 84x y z   vkSj 7 4 3 96  x y z ds fy, 

lR; gS  

(a) 6x y z    (b) 8x y z    

(c) 10x y z    (d) 20x y z    

 

41. k ds fdl eku ds fy,] lehdj.kksa 4 5 6x y   

vkSj 16 20x y k  dh fuEufyf[kr ç.kkyh 

lqlaxr gksxh\  

(a) 12 (b) 18 (c) 24 (d) 30 
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42. Find the value of 132 132 132 ... .     

(a) 11  (b) 12  (c) 12  (d) 11 
 

43. In the given figure, AB and DC are two 

chords of a circle produced to meet at P. If 

PA = 8 cm, PB = 4 cm, and PD = 16 cm, 

then PC = _______. 

 

(a) 2 cm (b) 3 cm (c) 4 cm (d) 6 cm 
 

44. In the given figure, 090 , 10PQR QS cm   , 

and PS = 8 cm. If ,PS PR then find the 

length of RS. 

 
(a) 12 cm  (b) 8 cm 

(c) 95 cm  (d) 125 cm 
 

45. Incircle of a triangle touches the sides AB  

at P, BC at Q, and CA at R. If AB = 5 cm and 

CR = 3 cm, then the perimeter of ABC (in 

cm) is ______. 

(a) 16 (b) 12 (c) 8 (d) 20 
 

46. Segment of a quadrant of a circle has area 

equal to 

(a) 
2

1
2 2

r  
 

 
sq. units  

(b) 21
4

r
 
 

 
sq. units 

(c) 
2

1
2 2

r 
 

 
 sq. units 

(d) 2 1
4

r
 

 
 

sq. units 

 

 

 

 

 

42. 132 132 132 ... .    dk eku Kkr dhft;s 

(a) 11  (b) 12  (c) 12  (d) 11 
 

43. fn, x, fp= esa] AB vkSj DC ,d oÙ̀k dh nks 

thok,¡ gSa tks P ij feyrh gSaA ;fn PA ¾ 8 

lseh] PB = 4 lseh] vkSj PD = 16 lseh] rk s                 

PC =_______ gSA 

 

(a) 2 cm (b) 3 cm (c) 4 cm   (d) 6 cm 
 

44. fn, x, fp= esa] 
090 , 10PQR QS   lseh vkSj  

PS = 8 lseh- ;fn ,PS PR rc RS dh yackbZ 

Kkr dhft,A 

 

(a) 12 lseh  (b) 8 lseh 

(c) 95 lseh  (d) 125 lseh 
 

45. ,d f=Hkqt dk var%òÙk AB  Hkqtkvksa dks P, BC  

Q vkSj CA  R ij Li'kZ djrk gSA ;fn AB = 5 

lseh vkSj CR = 3 lseh gS] rks bldk ifjeki 

ABC ¼lseh esa½ ______ gSA 

(a) 16 (b) 12 (c) 8 (d) 20 
 

46. ,d o`Ùk ds prqFkkaZ'k ds [kaM dk {ks=Qy cjkcj 

gksrk gS 

(a) 
2

1
2 2

r  
 

 
 oxZ bdkb;k¡ 

(b) 21
4

r
 
 

 
 oxZ bdkb;k¡ 

(c) 
2

1
2 2

r 
 

 
 oxZ bdkb;k¡ 

(d) 2 1
4

r
 

 
 

 oxZ bdkb;k¡ 
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47. PAB, PCD are two secants. AB = 9 cm,                  

PC = 8 cm and CD = 10 cm, then the length 

of tangent from P to the circle, will be 

 

(a) 7 cm  (b) 12 cm 

(c) 14 cm  (d) 15 cm 
 

48. The areas of three adjacent faces of a cuboid 

are a, b and c respectively. Twice of its 
volume is 

(a) 2abc 3m   (b) 2 2 2 32 a b c m   

(c) 32 abc m   (d) 36 abc m  
 

49. If the mean of x and 1/x is M, the mean of 

x3 and 1/x3 is 

(a) 2 3M    (b) 2(4 3)M M   

(c) 3 2M   (d) 3 3M   
 

50. The condition for points (a, 0), (0, b) and                  

(1, 1) lie on straight line will be 

(a) ab = 1  (b) 1
a b

ab


  

(c) a – b = 1  (d) 1
ab

a b



 

51. If 
1 1 1

,
x y x y

 


 then the value of 

6 3
x x

y y

   
   

   
is 

(a) 0 (b) 1/2 (c) 1 (d) 2 
 

52. If 4 283 1 0,x x   then a value of 3 3x x is 

(a) 758 (b) 756 (c) 739 (d) 737 
 

53. The figure shows a unit circle with centre O 

and AB, AC are tangents. If 060A  , find 

the area of the quadrilateral ABOC. 

 

(a) 6 sq. units  

(b) 2 3 3 sq. units 

(c) 3 sq. units  

(d) 2 3 sq. units 

 

47. PAB, PCD nks Nsnd gSaA AB = 9 lseh] PC = 8 

lseh vkSj CD = 10 lseh] rks P ls oÙ̀k rd Li'kZ 

js[kk dh yackbZ gksxhA 

 

(a) 7 cm  (b) 12 cm 

(c) 14 cm  (d) 15 cm 
 

48. ,d ?kukHk ds rhu vklUu Qydksa dk {ks=Qy 

Øe'k% a, b vkSj c gSA bldh vk;ru dk nksxquk 

gS 

(a) 2abc 3m   (b) 2 2 2 32 a b c m   

(c) 32 abc m   (d) 36 abc m  
 

49. ;fn x vkSj 1/x dk ek/; M gS] rks x3 vkSj 

1/x3  dk ek/; gS 

(a) 2 3M    (b) 2(4 3)M M   

(c) 3 2M   (d) 3 3M   
 

50. lh/kh js[kk ij fLFkr fcanqvksa (a, 0), (0, b) vkSj 

(1, 1) ds fy, 'krZ gksxh 

(a) ab = 1  (b) 1
a b

ab


  

(c) a – b = 1  (d) 1
ab

a b



 

51. ;fn 
1 1 1

,
x y x y

 


rc 

6 3
x x

y y

   
   

   
dk eku gS 

(a) 0 (b) 1/2 (c) 1 (d) 2 

 

52. ;fn
4 283 1 0,x x   rc 

3 3x x dk ,d eku gS 

(a) 758 (b) 756 (c) 739 (d) 737 
 

53. fp= esa dsaæ O okyk ,d bdkbZ oÙ̀k fn[kk;k 

x;k gS vkSj AB, AC Li'kZjs[kk,¡ gSaA ;fn 
060A   gS] rks prqHkqZt ABOC dk {ks=Qy 

Kkr dhft,A 

 

(a) 6  oxZ bdkb;ka  

(b) 2 3 3 oxZ bdkb;ka 

(c) 3 oxZ bdkb;ka 

(d) 2 3 oxZ bdkb;ka 
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54. If the mean and mode of a data are 30 and 

36 respectively, then its median is what? 

(a) 40 (b) 32 (c) 55.7 (d) 31.69 
 

55. Two dice are thrown. Find the probability 

that sum of numbers of both up sides of 

both dice is a perfect square. 

(a) 
1

6
 (b) 

7

36
 (c) 

5

36
 (d) 0 

 

56. Identify the missing number in the 

following sequence  

1, 13, 41, 85, ?, 221, 313 

(a) 163 (b) 179 (c) 145 (d) 147 
 

57. Four options are given. One of the option is 

differ from the rest. Find out the different 

option. 

(a) 6023 (b) 7202 (c) 4025 (d) 5061 
 

58. MAN : REHTAF : : WOMAN : ? 

(a) RAHTOM (b) RETHAM 

(c) REHTAM (d) REHTOM 
 

59. Anita ranks twelth in a class of forty six. 

What will be her rank from the last? 

(a) 34th (b) 35th (c) 36th (d) 37th  
 

60. If in a code language SISTER is written as 
535301, UNCLE is written as 84670 and 

BOY is written as 129 then in that language 

SON will be written as 

(a) 923 (b) 524 (c) 342 (d) 872 
 

61. If ' ' means „sum‟, „‟ means „division‟, „‟ 

means „subtract‟ and „+‟ means 
multiplication, then which of the following 

equations is true? 

(a) 16 + 5  10  4  3 = 9 

(b) 16  5  10  4 + 3 = 52 

(c) 16 + 5  10  4  3 = 9 

(d) 16  5  10 +4  3 = 9 
 

62. In the question given below find the 

missing number/character marked with 

question mark (?). 

(a) 2880   

(b) 2800 

(c) 2400   

(d) 1920 

54. ;fn fdlh MsVk dk ek/; vkSj cgqyd Øe'k% 30 

vkSj 36 gS] rks bldh ekf/;dk D;k gS\ 

(a) 40 (b) 32          (c) 55.7      (d) 31.69 
 

55. nks ikls Qsads tkrs gSaA çkf;drk Kkr dhft, fd 

nksuksa iklksa ds nksuksa Åijh i{kksa dh la[;kvksa dk 

;ksx ,d iw.kZ oxZ gSA 

(a) 
1

6
 (b) 

7

36
 (c) 

5

36
 (d) 0 

 

56. fuEufyf[kr Øe esa yqIr la[;k igpkusa  

1, 13, 41, 85, ?, 221, 313 

(a) 163 (b) 179 (c) 145 (d) 147 

 

57. pkj fodYi fn;s x;s gSaA buesa ls ,d fodYi 

ckfd;ksa ls fHkUu gS- fHkUu fodYi <wa<+sa- 

(a) 6023 (b) 7202 (c) 4025 (d) 5061 

 

58. MAN : REHTAF : : WOMAN : ? 

(a) RAHTOM (b) RETHAM 

(c) REHTAM (d) REHTOM 
 

59. 46 cPpksa ds d{kk esa vuhrk 12th jSad ij gSA 

vafre ls mldh jSad D;k gksxh\ 

(a) 34th (b) 35th (c) 36th (d) 37th  
 

60. ;fn fdlh dksM Hkk"kk esa SISTER dks 535301, 

UNCLE dks 84670 vkSj BOY dks 129 fy[kk 

tk, rks ml Hkk"kk esa SON dks fy[kk tk,xk 

(a) 923 (b) 524 (c) 342 (d) 872 

 

61. ;fn ' '  dk vFkZ ^;ksx^] „‟  dk vFkZ ^Hkkx^] „‟ 

dk vFkZ ^?kVkuk^ vkSj „+‟ dk vFkZ xq.kk gS] rks 

fuEufyf[kr esa ls dkSu lk lehdj.k lR; gS\ 

(a) 16 + 5  10  4  3 = 9 

(b) 16  5  10  4 + 3 = 52 

(c) 16 + 5  10  4  3 = 9 

(d) 16  5  10 +4  3 = 9 
 

62. uhps fn, x, ç'u esa ç'u fpà ¼\½ ls vafdr 

yqIr la[;k/v{kj Kkr dhft,A 

(a) 2880   

(b) 2800 

(c) 2400   

(d) 1920 
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63. Problem figures 

 
Answer figures 

 

(a)   (b)  

 

 

(c)   (d)  

 
 

64. There are four figures given in each 

question. One of these figures does not 

correlate with the rest of the figures. Select 

that odd figure. 

 

(a)   (b)  

 

 

(c)    (d)  

 

 

65. In the following questions there is a 
relationship between the two figures given 

to the left of the proportionality (: :) sign. 

The same relationship exists between the 

figures given to the right of the sign ( : :), of 
which one is missing. Find the missing one 

from the given alternatives. 
 

 

 

(a)   (b)  

 

 

(c)   (d)  

 

 

66. Find the mirror image of the following. 

NTSEscoLeR 

(a)   (b)  

(c)   (d)  

 

63. leL;k vkdf̀r 

 

mÙkj vkdf̀r 

 

(a)   (b)  

 

 

(c)   (d)  

 

 

64. çR;sd ç'u esa pkj vad fn;s x;s gSaA buesa ls 

,d vkd̀fr ckdh vkdf̀r;ksa ls esy ugha [kkrk gS- 

ml fo"ke vk—fr dk p;u djsaA 

 

(a)   (b)  

 

 

(c)    (d)  

 

 

 

65. fuEufyf[kr ç'uksa esa vkuqikfrdrk ¼% %½ fpà ds 

ck;ha vksj fn;s x;s nks vadksa ds chp laca/k gSA 

fpà ¼ % %½ ds nkbZa vksj fn, x, vadksa ds chp Hkh 

ogh laca/k ekStwn gS] ftuesa ls ,d yqIr gSA fn, 

x, fodYiksa esa ls yqIr fodYi Kkr dhft,A 
 

 

 

(a)   (b)  

 

 

(c)   (d)  

 
 

66. fuEufyf[kr dh niZ.k izfrfcEc Kkr dhft,A 

NTSEscoLeR 

(a)   (b)  

(c)   (d)  
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67. How many triangles are there in the 

following figure? 

 

 

(a) 6 (b) 10 (c) 11 (d) 12 
 

68. Find the missing latter. 

3 L 4 

1 Q 17 

5 ? 4 
 

(a) V (b) P (c) Q (d) T 
 

69. A > B means “A is husband of B” 

A – B means “A is brother of B” 

A + B means “A is father of B” 

A  B means “A is mother of B” 

If P > Q  R + S, how is P related to S? 

Find the correct alternative. 

(a) P is father of S  

(b) P is grandfather of S 

(c) P is uncle of S 

(d) P is brother-in-law of S 
 

70. If 3(14) is added to the square of a number, 

the answer so obtained is 4425. What is the 

number? 

(a) 1849 (b) 43 (c) 41 (d) 1681 

67. fuEufyf[kr vk—fr esa fdrus f=Hkqt gSa\ 

 

 

(a) 6 (b) 10 (c) 11 (d) 12 

 

68. yqIr v{kj dk irk yxk,aA 

3 L 4 

1 Q 17 

5 ? 4 
 

(a) V (b) P (c) Q (d) T 
 

69. A > B dk vFkZ gS “A, B dk ifr gŜ ^ 

A  B dk vFkZ gS “A, B dk HkkbZ gŜ ^ 

A + B dk vFkZ gS “A, B dk firk gŜ ^ 

A  B dk vFkZ gS “A, B dh ek¡ gŜ ^ 

;fn P > Q  R + S, rks P, S ls fdl çdkj 

lacaf/kr gS\ 

lgh fodYi [kkstsa- 

(a) P, S dk firk gS 

(b) P, S dk nknk gS 

(c) P, S dk pkpk gS 

(d) P, S dk cguksbZ gS 
 

70. ;fn fdlh la[;k ds oxZ esa 
3(14) tksM+k tk,] rks 

çkIr mÙkj 4425 gSA la[;k D;k gS\ 

(a) 1849 (b) 43 (c) 41 (d) 1681 
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